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5 | f'(x) = (sinx)(—sinx) + (cosx)(cosx)
= —sin? x + cos? x
6 f'(x) = (e*)(cosx) + (sinx)(e*)
=e*cosx +e*sinx
FO0- (cosx)(e*) — (e*)(—sinx) e*cosx+e*sinx
: 3 cos? x B cos? x
8 |f'(x) =2xcos(x*+1)
cosXx
| riE= sin x
10 | f'(x) = —5sin(5x — 2)
11 | f/(x) = 3 cos 3x — 6sin 6x
12 | f'(x) = —(2x—3)sin(x* —3x—4)
f'(x) = (e?*)(10 cos 10x) + (sin10 x)(2e%*)
L3 = 10e** cos 10x + 2e** sin10 x
f'(x) = (cosx?) (%) + (In x)(—2x sin x?)
14

1 .
=5 (cos x%) — 2x(In x) sin x?
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15

fl(x)=(Vx+1) (g cosﬂ) + (sin nx) ( 1 )

2 2/7\2vx+1
f(x) = 4(sin x)?
1o f'(x) =4 x 2(sinx)(cosx) = 8sin x cos x
f(x) = (cos 2x)3(cos x)
17 | f/(x) = (cos 2x)?(—sinx) + (cos x) X 3(cos 2x)* X —2 sin 2x
= —(cos 2x)3(sinx) — 6(cos x)(cos 2x)? sin 2x
F/(x) = 5 X = cos V% = ——cos V&
X)= ——C0SVX = ——=CO0SVX
18 2\/} 2\/}
19 | f'(x) = 2(cos 2x — sinx)(—2 sin 2x — cos x)
1 2cos2x 1 Ccos 2x
'(x) = ——=cosVx + = cos/x +
20 | /() 2+/x 2Vsin2x  2vx Vsin 2x
. 1 5
(sinx) (2 (Inx) X ;) — (Inx)“(cos x)
i BN sinZ x
_ 2sinxIn x — x cos x(In x)?
e xsin? x
92 | D'(t) = 400 x 0.4 cos 0.4t = 160 cos 0.4t
21 21 4.8 21
23 |H'(t) = 2.4 X ——=cos (—(t—80)> = cos(—(t—80)>
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% — %(1 — ((sin x)(—sinx) + (cos x)(cos x)))

= %(1 — (—sin? x + cos? x))
= %(1 + sin? x — cos? x)

24 & %(sin2 x+1—cos?x)

— %(sin2 x + sin? x)

= %(2 sin? x)

= sin? x

f(x) = (e* cos x)(sin x)?
25 | f'(x) = (e* cos x)(2(sin x)* cos x) + (sinx)?((e*)(—sin x) + (cosx)(e*))

= e*sin x(2cos?x — sin? x + cos x sin x)
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